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187 KJIIES: x % %k k %k % x % % 9 7 P
188 [ % % * 8 5 P
189 & KFnzE * % % * % % x 9 2 p
190 {FE * * x4 8
191 &REEHAT * kX *x k% k k% 11 1 P
192 FEWSHRTR * * ok ok x 9 2 P
194 RH&H * 3 9
196 S (& x % % k k% 8 5 p
197 BHEIETE * % * x % 5 7
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187  KJIIEH 5 6 6 6 6 6 6 6 6 6 6 6.0
188 gkl 6 3 4 5 5 5 4 3 4 4 4 | 5.0
189 ez Kfnzs 2 5 5 4 2 3 3 1 2 2 3 2.0
191 #&REHIT 1 1 1 1 1 1 1 2 1 1 1 1.0
192 FHIBRRIG 3 2 2 3 3 2 5 4 5 5 2 3.0
196 YRH{E 4 4 3 2 4 4 2 5 3 3 5 4.0
B AR

No. & T K 4 R A AR

187 KJIIEN 6 6.0 6.0

188 [kt 5 5.0 5.0

189  fEx Kfnz= 2 2.0 2.0

191 HBEEHAT 1 1.0 1.0

192 FHIBREETR 3 3.0 3.0

196 JEHIE 4 4.0 4.0
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187 | 13003298 F = RJIIEX BT RS — IR EAGIA 6.0
188 13002439 F  {(FkfH AR T FRE i if] e 55 5\ 5.0
189 = 13003821 F  fEx K fit =T s & LR RNA 2.0
190 13002574 F  (FEE EHEET RS I BB 1T
191 = 13003831 F  #&EH{T /N RS IR A 1.0
192 | 13003822 F  4flBEES I B DY s & R HINL 3.0
193 13003296 = F  Frjlifd FEHET s —EHIR e
194 13002693 @ F  KHE&MH KHE N RS FRMR BRI T
196 13003827 @ F  IEHE{& (S S i o] Uk FAfr 4.0
197 = 13003796 F  BFEIETE ALGE RS THIE 1T
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